Mihdterm 1, Math 31A, Fall 2013
Instructor: Tonéi Antunovié

Printed name a1
gned name; _

Section number

Instructions:
e Read problems very carefully. Please raise your hand if you have questions at any time.

» The correct final answer alone is not sufficient for full credit - try to explain your
answers as much as you can. This way you are minimizing the chance of losing points
for not explaining details, and maximizing the chance of getting partial credit if you
fail to solve the problem completely. However, try to save enough time to seriously

attempt to solve all the problems.

e Ifit’s obvious that you final answers can be simplified, please simplify tu em. Otherwise
your final answers need to be simplified only if this is required in the statement of '-:‘ne
problem

e You are allowed to use only the items necessary for writing. Notes, books, sheets,
calculators, phones are not allowed, please put them away. If you need more paper
please raise your hand (you can write on the back pages).

Question | Points | Score

1 10 [O

5 10 (
g 10 %

4 10 (O

Total:

(@3]
)
J

3
-
&
Ak
S
o
o~




(O

1. (2) (4 points) Write down the proof of the power rule:
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(b) (2 points) Find all points = where the function f(z) =
A

]

{¢) (2 points) Compute the 15th derivative of cosz.

()= cot X 1 ()= cosx R
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(d) (2 points) Sketch the graph of a function f which satisfies e:

e lim,,; f(z) =
e f(0)=23and f is nght—continuous ga=0

e limgo- f(z) = —00. \
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|z + 2| is not differentiable.
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/ 2. Compute the limits

’ (a) (5 points)
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3. (10 points) Compute the one-sided limits
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4. (10 points) Compute the second derivative of
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5. (10 points) Consider the function f(z) = —:172 Compute the equations of all tangent |
lines to the graph of f whose slope is P(id&i tc:__Zw
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